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Addition Word Search

Find the answers to the math problems below and find 
and mark all the answers in the word search box.

40 + 10 = 

20 + 70 = 

10 + 10 = 

30 + 30 = 

20 + 60 = 

30 + 10 = 

  0 + 10 = 

70 + 30 = 

10 + 20 = 

50 + 20 = 

10 + 50 = 

20 +   0 = 
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Answers

copyright:    www.mathinenglish.com

Find the answers to the math problems below and find 
and mark all the answers in the word search box.

40 + 10 = 50

20 + 70 = 90

10 + 10 = 20

30 + 30 = 60

20 + 60 = 80

30 + 10 = 40

  0 + 10 = 10

70 + 30 = 100

10 + 20 = 30

50 + 20 = 70

10 + 50 = 60

20 +   0 = 20
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